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hsa−miR−198 in LUSC

Time (months)

Pr
ob

ab
ilit

y

Number at risk
206 49 14 3low     
266 50 9 2high

HR = 0.66 (0.5 − 0.88)
logrank P = 0.0042

Expression
low
high
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hsa−miR−384 in LUSC

Time (months)

Pr
ob

ab
ilit

y

Number at risk
209 49 14 3low     
263 50 9 2high

HR = 0.65 (0.49 − 0.86)
logrank P = 0.0027

Expression
low
high
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hsa−miR−490 in LUSC

Time (months)

Pr
ob

ab
ilit

y

Number at risk
182 40 11 2low     
290 59 12 3high

HR = 0.69 (0.52 − 0.91)
logrank P = 0.0081

Expression
low
high
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hsa−miR−513a in LUSC

Time (months)

Pr
ob

ab
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y

Number at risk
194 44 12 1low     
278 55 11 4high

HR = 0.64 (0.49 − 0.85)
logrank P = 0.0019

Expression
low
high
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hsa−miR−527 in LUSC

Time (months)

Pr
ob

ab
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y

Number at risk
177 46 13 3low     
295 53 10 2high

HR = 0.69 (0.52 − 0.92)
logrank P = 0.01

Expression
low
high
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hsa−miR−566 in LUSC

Time (months)

Pr
ob

ab
ilit

y

Number at risk
209 49 14 3low     
263 50 9 2high

HR = 0.65 (0.49 − 0.86)
logrank P = 0.0027

Expression
low
high
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hsa−miR−767 in LUSC

Time (months)

Pr
ob

ab
ilit

y

Number at risk
250 60 15 5low     
222 39 8 0high

HR = 1.33 (1.01 − 1.76)
logrank P = 0.044

Expression
low
high
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hsa−miR−924 in LUSC

Time (months)

Pr
ob

ab
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y

Number at risk
209 49 14 3low     
263 50 9 2high

HR = 0.65 (0.49 − 0.86)
logrank P = 0.0027

Expression
low
high
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hsa−miR−1184 in LUSC

Time (months)

Pr
ob

ab
ilit

y

Number at risk
209 49 14 3low     
263 50 9 2high

HR = 0.65 (0.49 − 0.86)
logrank P = 0.0027

Expression
low
high
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hsa−miR−1205 in LUSC

Time (months)

Pr
ob

ab
ilit

y

Number at risk
209 49 14 3low     
263 50 9 2high

HR = 0.65 (0.49 − 0.86)
logrank P = 0.0027

Expression
low
high
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hsa−miR−1224 in LUSC

Time (months)

Pr
ob

ab
ilit

y

Number at risk
262 52 13 2low     
210 47 10 3high

HR = 0.69 (0.52 − 0.92)
logrank P = 0.012

Expression
low
high
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hsa−miR−1265 in LUSC

Time (months)

Pr
ob

ab
ilit

y

Number at risk
208 49 14 3low     
264 50 9 2high

HR = 0.66 (0.5 − 0.88)
logrank P = 0.0042

Expression
low
high


